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1. BrEA A={x|0<x<3}, B={x|1<x<4}, NI ANB=
A. (0] B. [1,3) C. [3,4) D. (0,4]
2. i Ix>0, e +x2-2<0"MIBEN
A. Ix>0, e*+x*-2>0 B. Ix<0, e*+x*-2>0
C. Vx>0, e +x*-2>0 D. Vx<0, e*+x*-2>0

3. TER“TAMET R EL f (0 T AU MERS, 558 —IRFTIUX [H 9 (-2, 61, 58—
DX T AT fiE

A. [-2,-1] B. [-1.1] C. [3,4] D. [-2,2]
4. BREy =Ig(x? —6x+8) B IR X 6] Ay
A. (—=2) B. (—=3) C. (3+) D. (4+)
5. B41a=02" b=log,,0.3 c=log,,3 ., Mab,ck/hxER
A. c>a>b B. a>b>c C. b>c>a D. a>c>b
6. HEy=0¢-1)-2" R KL
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7. TFENLRE AN R 16 BE 1T, SR 0~ 9 M RE A~ F 3L 16 it
At T, IXEAT 5 5 BE 1B N R R R

6% o 12|34 |5|6|7 8 9/A B|C D|E F

0## 0o 12 3|4|5|6 |7 8|9 |10 1112 13 14|15

foltor: R A28 Nk R R 2 <1C ” (B 28=16+12) , [FEE, Akl
RORMIINE“14+13=277, £+ N2 R EA“E+D=1B",
%B/é\y E+ﬁiﬁ%U‘Fy CXDZ

A. 9C B. 84 C. 5F D. 6E
8. wrm<d, (4 +m-L)(3xn-1)2 0 vxe(mn) Ak, 1n-m R
1 1 3 VE]
A. ] B. 5 C. 1 D. >
= EE: AES AN, SO, #2055, ESNIARMETT, HSTY
AEEER, LHANMEE 5, BAKNWIE 25, ARG 0 5.

9. #ab,ceR, NFFULIEIEMKZ
A. #ab>0, M3+2>2 B. #a>b, Mlac?>bc?
C. #[al>{bl, ma?>p? D. #a>b, mi>1
10. W% f(x) =2, XTAEREM X, % (6 #X,) , FHlar R 2
A Fx+1)=T00)- (%)

B. fq%)=f(x)+ ()
HCARRICOIN

C.
X =X
X 4%, F00)+ (%)
D. f(=52)< 5
11, WIESEHE X, Y, WaEx+2y=2,
A. ye(0,2) B. log, x+log, y (& KAE K -2
C. ¥4y E(]B%/J\{E%j% D. 2 +4 [Mf/IMEA 4

12. EaE X388 R R fO) sHEESg XY #a f(x+y)+ f(x=y)=2f () f(y),
HA(G)=0, MLl R4 ERIGH
A, f()=-1 B. f(X) 2%k
c. 1(x) %7 (L.0) et D. T+ 2+ +1(2022)=0
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=, BEHE: AXEHL4NE, BNES 7, H2057. BERBEEEEZTFHENME.

13. Bt T () = VA7 + Lty U

1 2,1
14. 2Hna 3 2, +a2

15. GRS f () =e"? CayEHD . 35 T(X) fEX A [2,+00) &3S, Maf
A

16. BeEad f(x) ={|_2X;ﬂ;fzz s #HR F2(x) —mf (X) +m =07 4 A [E] ) SEH0R,

IR quEEIE RN
M. fRERT: AR 6 /MR, #7045, MENEHMNFRA. IEFATREIRELSR.

17 CAR/NEH 73 10 73

E%ﬂ%{a\A:{x|x2—ax+a—lso},

(1) Ha=5, RESGA;

(2) #4EerB={xx*~5x+6=0}, HAUB=A, Rafmfiiif.

18.  CA/INE 7> 12 53D
TN T (X) = (a® —3a+3)x* NH %L
(1) Reg % O mfgr =X
(2) HEF I =F0)+(m-1)x =378 [-1L3] Eff kAl Jy 2, RS m fofH.

19, CAR/NEWH 5 12 53
Egn9(x)=x+Inx,

(1) FH5E SGIFRA 9(X) 75 (0,400 ) B i
(2) AR X —x-2<In(x+2)-2Inx .
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20.  CA/NEH A 12 53

TEMRTAEA 2SS AR AH, WERYMAFCRIIRE 2 6/C, ZSMIEE R g,C, A4 t(min)
FEVIRRRE O (b C)W AR O=6,+(6,-6,)e ™ R, Hik ZE B
7S ARG E I IE £, e 2 B BIRE. LA 85 C MMk, MAES CHI
AR AL, 10min LU YRR & 45°C .

(1) Rk HI1E;

(2) SRIZWIRIHRIE FH 85 C M2 30°C FT s ZE ¥4 ZNI [a].

(A E RS # 2] 0.1min, S5 %4 log, 5~ 2.322)

21, CR/NEH 7> 12 73

o £ (x)=2" —2%  Hf(1+x)+ f (1-x)=0%} vx e R fa 7,

(1) sRsra i,

(2) Zh(x)=f(x)+x*=3x*+3x, KiF: EEh(X) KRG POXFRET, IR
s,

22, CA/NESY 12 93

CLENE AE R IR T (X) 3 2 LR 2 A

@ f(1)=1,

@% x>0, f(x)>0;

@t VxyeR, g f(x+y)=f(x)f(y)+f(x)+f(y).
(D sk f(0)Fn f(3) (¥,
(2) FWTIHED f(X) i

7-f
(@) R [ ()] g HIRIE.
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